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Test | . | 2 I
7
Studentsalso evaluate the
content of programs,which are
offered in a variety of sub-
jects, from typing and math
to civics.! “Sometimes the sto-
ries are {oo gross, and we tell
them they should (1) them
out 'of the sysiem,” says fifth
grader Leslee Preator. Another
classmate (2) ,“In some pro-
grams, we’re supposed (3)
politics with the computer,
but we get bored We don’t
want to be buggkeff" about
(4) and, stuff?® like that.”
Most students, especially
the youngest ones, don’t scem
to (5) learning a{bout com-
puters anyv more diffi(fult than
learning anything (8 .
Eliza M.lrer, a pig-tailed* five-
year-old, contends® that “art is

take
gB) make -~
C ) set
D) avoid

2, 'A) prawes <
B ) stresses
C ) complam
D) protests -

3. A) by linking
B) mafching
. Gy lo provide

\D)rto argue
4, ) programs
By politics

E’) Math
D) scholarship

15,5 find %g{z_
show
C) “order
D) limit :\Zf
6. A) more ?\
B) new
DA elSe
D) iq{?eed

P 1. AR# 2, (USsl)=annoy 3. it 4, HRETHN 5. v.5%

- o O
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sgharder than computers, becau- 7, A) harder

se you have to draw straight B&> easier
jines and color in them. Com- C) more suit-
puters are () _to do than “ able
that.,” One first grader finds D) wiser
the most challenging aspect to 8, A) stretching
computingis  (8)  her fin- B) touching
ger to reach the delete® button. C LAY ing
School officials say the com- D) utilizing
Puters improve the students’ 9, A) whichev?g J/
test scores, But (9) B) howevert
academic snuccess the children C) whenever
achieve may also be a result Q}jwhate\er
of the small classes (25 stu- 10, A) therefore
dents in each) and the school’s R) also
Cxperimental agpect, (10) . €) that

L) .
encourages Students to work. . \D/j, which

" Note - - .

A $# Grade School Foundé&d by Computer Firm
1s Used as Testing Ground for Its Products —3¢, w
¢ 3 Too Gross, Y

6. Mgk
™ 2 Y



Comprchension Exercise

Wihocr of the following statements is NO1 true?

Ay Elizt Miller is one of th= youngest graders,

B) Headmaster and teachers think highly of their
ztudents’ progress in study.

C ).Students are usually asked to evaluate the com-

 puter’s programs,

D) One first grader seems to have some initial

difficulty in mastering the computing technology.
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Test 2

What is the biggest and
most coemplex machine in the
world today? The question was
posed' recently by Professor
Colin Cherry of Imperial Colle-
ge, London.

He went on (1) that
tne answer was not a computer,
nol Concorde?, not a North Sea
oil platiorm—it was the (2)
telephone network, Large con-
tinenlal networks, (3) to-
gether by submarine cabies?®
and satellite connexions, loge-~
ther form a working machine
of unimaginable size and (4)
Professor Cherry said.

This week James Merri-
man, Post Oiffce board 1rember
for technology, ygave scale ‘o
this (5) :the global telecom-
munications system  (6)

.
Lt
wt

1, g‘)/{ﬁ‘guing

B) toargue,
C) toexplain
D) todescribe

2, A) fational

B) urban
C) space

D), global
3. A) maintairecd

- B )}mkn
C) matcred
D) declared

4, A) linrcrsen

B) harrwory

comnlexityy,
z geametry
. TE A

5. AL ecuncent

B) techuvique
C) greatness
D9 length

. A) accepted

B) {unct ored
C ) /embraces
D\f circulated

1 ot B 2, n  CEESHEREYD AT 3. BESRA

4, vt. 88, {18
e 4 .



350 mill'on telephones 1 more
than 50 countries, (7) an
investment of about £50,000 m.

4Some 200 million of these
telephones”, Mr Merriman
added, “can ‘already intercom-
municate directly and automa-
tically (8) human inter-
vention.”®

A big machine, indeed, and
one (9) development was
begun 100 years ago this week
by Alexander Graham Bell.”
“Mr Watson, come here; I wang
to see you” was the first intel-
ligible? sentence (10) by a
telephone, from Bell fo his
assistant, on March 10, 1876.

Note

7. A) representing
1) deserving
C) intending

‘ D‘/) costing

8. A) during
B) by
(;9\)k instead of
Dy without
.r

9, A) who
B)whnse
C) for which

9’5 that

10.,A) sard
B), conveyed
~d
C) created
D) broadcast
~N

A% The Times, %8l Michael Swan =
Spectrum (p 127), WEHR Comprehension Exercise,

5 FH 6. NREEEZEBLAR) 7. TEEN
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Comprehensien Exercise

Which of the following is the best title of the
passa ge?
AY Large Continental Networg

B The World’s Most Complex Machine

C) 200 Million of Global Telephones
D) Bell's Intelligent Invention—Telephone

¢ § o



Test 3

Nearly three-quarters of
the Earth is covered with wa-
ter. Water heats up more slowlv
than land, but once it has he-
come warm it takes longer to

(1) down. If the Earth’s
sur(ace were entirely land, the
temperature at night would
_ (2) quite quickly and night
would be much colder than
day, as it is on the moon. This
does (3) happen in inland
descrts, hundreds of miles {rom
any sea, The climate of the
continents, especially in the
temperate! (4) , is very
much affected by the oceans
around them. The areas close
to the sea have a **maritime
climate’,? (5) rather cool
summers and warm winfers.
The interiors, far from the

1878 2, BHiESK

1. ¥/A) cool
&
B) balance
C) keep
D) condense

2. A) rise
B) loose
C) miss
pD) fall

3.4A) indeed
B) not
C) however
D) just

4, A) centres
B) moisture
C) fields

pD ) zones

5. Ap with
B) instead of
C) within
‘D) owing to

¢ 7



sea, havea*® (6)
with extrcmely hot
and cold winters.
Rain (7) {rom the evap-
river‘s, seas nd

heavy rain,

oration of
lakes Even afte;
the pavements® in a city do not
take long to dry (8)  the
rainwater evapoiates into the
air, On a warm dry day it evap.
_

1r can abeorb more mois

orates very rapidly, B
warm a
ture than cold air, But at anv
temperatire,

_can hold onlv a certain

parficuiatl
RS
m-rvimum amount of water va-
poar. Che air is then saturated,s

1_!
;ne

like a sponge that cannothold
(11) morc water. The lower
_az
water vapour is required to
saturate the air.

All over the surface of the
Ea1th, millions of tons of water
as)

the temperature, the

are evéry second, con-

3 e 4, vt} % (saturation n,)

- 8 *

clrilate’

sumimei s

6. A)
JB)
CH
Dy nn
7. A)
B)
TV
‘D)
8., A)
yB)

DJ
B

&
3]

A
U
C)
D)
1. A)
B)

9.

10,

S
b

maritime
comunet i
conventional
normat
evaporates
results
comes
restrains
though
because
wiile

so that
where

now that
38

so long as
climnte
atmo.,y2ve
weather
T1VErs

no

syme

) any

much

) more

B)
C)
D)
13, A)
B)
©)
D)

less

fewer
greater
heating up
flowing
evaporating
moving



dens ng? in the air into drops 14, A) for

. 3 that
sosmall  (11) it takes thou- C) then
san’s of thery to make a single D) vet

raindrop. It is these  (15) 15, A) big
— + B) enough

dropiets that make cloude.When vC) tiny
clovde ~n'lip from the sea over D) arrculating
16, “A) roige
he &~ +v.mer lan they are ’
#rae land,  they \B) drop
forced *u _ (16) ‘"and becowe yC) be cold
, r1se
cocc 1 the co'de upperatu.os- Do
. 17.0A) toer
pne As the air cools down 1t- B> already
mav -3 through its satura - C) merely
3 oo . ‘D) sHon
f1oh ang  (17)° ‘some 04 12, A ruoning
1w vanpour turns o raim. B) vapour
. C) evaporated
T, r e
Dav -n, cav out, the (18) W) same
wza e, ¢ rculates between the 19.‘A) evaporate
air and the land rivers (19) -B) try
— C) cool
to mwe«¢ clouds, clouds mrke y tend

/
1ain, 12,1 makes rivers wnich 20, A) saturation
. effect
in turn 1un nto the sea. ThiS B)

) sysiem
15 calied the rain 20) . Jg) cycle

5, &#, 8§



Note

AR Penguin Book of the Physical World, %
8| B Michael Swan ¥ Spectrum (D. 156), 478 ) Com-
prehension Exercise,

Comprehension Exercise

What do you think is the best title for the passage?
A) Maritime Climate and Continental Climate

B) Rainwater Evaporation

Cy Rivers, Seas and Oceans

Dq)) Rain Cycle
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